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2?22,4,0 ),COLORRED;
Varl3:=(MA(C,1)+MA(C,3)+MA(C,5)+MA(C,7)+MA(C,9))/5;
Varl4d:=(MA(C,2)+MA(C,4)+ MA(C,6)+ MA(C,8)+MA(C,10))/5;

B8, colorff0000; Varle:=MAX(EMA(Varl3,2)-EMA(Varl4,5),0)*200;
Varl7:=EMA(Varl6,5); i&iRI&:Varl7,stick,colorffOOff;
STICKLINE(Varl7REF(#&#%,1)AND

12582£80,#238,80),colorffO0ff ;U S "2 6 "1EAR (LA ~TX) FF:=EMA(CLOSE,3);
MA15:=EMA(CLOSE,21); TTJ:=CROSS(FF,MA15);
E:=EMA(C,3),COLORBLUE,LINETHICK1;
f1:=EMA(C,5),COLORWHITE,LINETHICK1;
T:=EMA(/,5),COLOROOFFO0,LINETHICK1; QQ:= CREF(,1)AND
REF(,1)0,MA2,MA2); MA5:=MA(CLOSE,5),COLOR888899;
MA13:=MA(CLOSE,13),COLORFFOOFO,LINETHICKZ;
VARO1:=CLOSE=HHV(C,4) AND (REF(C,1)>=REF(C,2) OR
REF(C,1)>=REF(C,3))OR REF(C,1)=HHV(C,4) AND CLOSE>=REF(C,2) OR
REF(C,2)=HHV(C,4) ANDREF(C,3)=LLV(C,4) AND C>=REF(C,1) OR
REF(C,3)=HHV(C,4) ANDC>=REF(C,1) AND C>=REF(C,2);

(KRN =4 BRIKEMN VR SEAND FEK > =2 BRIRIWE M}
VARO02:=CLOSE=HHV(C,4) AND REF(C,1)=LLV(C,4);

(KN =48 NIKENISRSEAND FEK =48 NIKENHIRKE)
VARO3:=CLOSE=LLV(C,4) AND (REF(C,1)=REF(C,2) OR REF(C,2)=LLV(C,4)
ANDREF(C,1)=REF(C,1); {FElr=4 B AWEMN HIEIKEAND

K& > =2 Baip9eE2{} VAROS5:=REF(C,1)=HHV(C,4) AND CREF(C,3) OR
REF(C,3)=HHV(C,4) AND REF(C,1)>REF(C,2)) ANDREF(C,2)>=REF(C,4) AND
CREF(V5,1) AND REF(V5,1)HHV(V5,13) AND CLOSE>REF(C,1)
ANDCLOSE>OPEN; VARO8:=VAR07 AND COUNT(VARO06,2);
VAR09:=100*EMA(EMA(C-REF(C,1),6),6)/EMA(EMA(ABS(C-REF(C,1)),6),6);
VAR10:=EMA(MA(C,13),13); VAR11:=FILTER((LLV(VARO09,2)=LLV(VARO09,7)
AND COUNT(VAR0950,2) ANDCROSS(MA(VARO09,2),VAR09))=1,1);
VAR13:=SMA(EMA((C-REF(C,1))/REF(C,1),5)*100,3,1)*10;
VAR14:=FILTER(((CROSS(VAR13,0) OR CROSS(C,VAR10)) AND VAR11)=1,3);
VAR15:=MA(C,18)>=REF(MA(C,18),3) AND CROSS(C,MA(C,18));
VAR16:=VAR0O8 AND NOT(REF(VARO0S,1)); RSV:=(CLOSE-
LLV(LOW,9))/(HHV(HIGH,9)-LLV(LOW,9))*100; K:=SMA(RSV,3,1);
D:=SMA(K,3,1); J:=3*K-2*D; &X:=CROSS(J,D); X :=CROSS(D,));
SL1:=(VAR140R VAR15) AND VAR11; 3£2:=(VAR140R VAR15) AND VARO04;
3L3:=(VAR140R VAR15) AND VARO02; 3£4:=(VARO2AND VAR11) OR (VARO04
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AND VAR11); 3£5:=(£YAND VAR04) OR (£¥Y AND VAR02) OR (£¥ AND
VAR11); TTJO:=VAR16; TTJ1:=3E10R F20R L30R 3L40R L5AND MM;
XGO:=TTJ AND TTJO; XG1:=TTJ AND TTJ1; XG11:=XGO OR XG1;

AT HRREICREES "SLK 1ERIERS} PL5:=ZIG(3,5);
EN1:=ZIG(3,5)>REF(ZIG(3,5),1) AND REF(ZIG(3,5),1)=REF(ZIG(3,5),2)
ANDREF(ZIG(3,5),2)>=REF(ZIG(3,5),3); PL10:=ZIG(3,10);
EN2:=ZIG(3,10)>REF(ZIG(3,10),1) AND
REF(ZIG(3,10),1)=REF(ZIG(3,10),2)AND REF(ZIG(3,10),2)>=REF(ZIG(3,10),3);
PL20:=Z71G(3,20); EN3:=Z1G(3,20)>REF(ZIG(3,20),1) AND
REF(ZIG(3,20),1)=REF(ZIG(3,20),2)AND REF(ZIG(3,20),2)>=REF(ZIG(3,20),3);
PL40:=Z1G(3,40); F£281:=BARSLAST(PL5SREF(PL5,1));
FEE2:=BARSLAST(PL10REF(PL10,1)); E583:=BARSLAST(PL20REF(PL20,1));
ZTJZ5:=IF(PL10>REF(PL10,1),COUNT(EN1,E3E2),0);
ZTJD5:=IF(PL10>REF(PL10,1),COUNT(EX1,E23E2),0);
DTJZ5:=IF(PLLOREF(PL20,1),COUNT(EN2,E383),0);
ZTJD10:=IF(PL20>REF(PL20,1),COUNT(EX2,E383),0);
DTJZ10:=IF(PL20REF(PL10,1) AND ZTJZ5=2; TJ33:=EN2 AND DTJZ10=1;
TJ44:=EN3 AND ZTJZ10=1; TJ55:=EN2 AND PL20>REF(PL20,1) AND
ZTJZ10=2; XG22:=TJ11 OR TJ22 OR TJ33 OR TJ44 OR TJ55;

(AT —EESHEREERR) XG:=XG11 OR XG22; W18:EXIST(XG,1);.
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